Analisi vettoriale

1 Operatori differenziali

1.1 Coordinate cartesiane - (2,y, 2)
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1.2 Coordinate cilindriche - (r,0, 2)
r = (rcosf,rsinb, z)
dl=dré,+rdféy+dzée,
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1.3 Coordinate sferiche - (7,0, ¢)
r = (rsinf cos ¢, rsinfsin ¢, r cos §)

dl =dré, +rdfég+ rsinfdpé,
= I laf 1. 9] .

1(
+_
r

V=St rame  eman
S P 1 8(rF,) 1 O(Fpsinh) 1 OFy
T2 or rsinf 90 rsinf 9¢
= _ il 3(F¢ Sine) OFy il L i 8(7"F¢,) =
VXF*rsiw( a0 a¢> r(sin@ B -
1

OF,

00

O(rFy) _

2*f

iy DO e 1. U RE it
vfmﬂ@r ™ +7"2sin080 Smeao +r2sin203¢2



2 Identita differenziali

V(¢ +1) =V + Vi
V() = bV + ¢V
V- F+G)=V.-F+V-G
VXx(F+G)=VxF+VxG
V(F-G)=(F-V)G+(G-V)F+Fx (VX G)+G x (VxF)
V-(¢F) = ¢V -F+F -V
V(FxG)=G-(VXxF)—F-(VxG)
V-(VxF)=0
V x (¢F) = ¢V x F+ Vo x F
Vx(FxG) =FV-G)—G(V -F)+(G-V)F - (F-V)G
V xVxF=V(V-F)-VF
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